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١١PH 

 *��� ���'�� * -�./�0�  

 :���� ��� �� �CD� ���	E F *?) * �./�0�  
 - 
������� ���� ���  

 -  ������� ����  �) :#$% ��$&� '%��� (�)��*� � (�++,)�-. � (�/��0++,� � 1++2)3% 
)2++4� �$++56� �
2++�� �17��++,8�

1�$0�� ��$9: (�;)9<.'=>6� � �$9: ?���@ �A)�  ?B: � C)DE� � ��(...� ��  

 - H�80��� I���� $� $J�K (��$=� � L���4 1��$�  

 - #$% '��K$� C)56. �� 10�$��� � 1K��  � 1��� (�$)/-. ����  

 - #$% A)3%�M� � H�$����  

 - 'K�8K 1��$���&�� �������K�0�� � ��  

 - '��56� 1.���=� 1��$�#$% ���6� � �� ���  

 - '��56� 1.���=� 1��$�#$% ���6� 1B)K�B� � 1E$� (�,)�-. ���  
 ��� ���'�� * ����
.� 8
;�) * -�./�0� �
54)  

 - H�80��� ���2.) :#$% 1N8� (�)��*� A))2.$���� � ���++��� �++)�$. � ���2. � ��� (�)++��*� $��++� � 1++3�$=. #�>++� ��++�

(...� ������ 1N8�  

 - 'K�O) #$% 1P)� (�)��*� A))2. �(�++6)Q;. �1B)K�++B� � 1++E$� (�++,)�-. �(�;++)9<. �1K�80��� R��*� ����82� #$% 1��6:

S�� � � ��.(...� 
��� ���  

 - �8@ � 1=T� ��$BD8@ L���� � ���UT � ��K� � 
,)� ?��: #$% 1B�;)T '��K$�����8K C�� �� ��� S�$O � ��  

 - H�80��++� �++).$. '++� ��$=0++�� 
)2E�� 1��8K�& C++�� V++�$%  � '++%��� �� #$++% 1++��*� � 1��++8@ ����++UT � $++��6@ ���

W)X#$%.���$4 ���  
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١٢PH 

 *:� �� %���.� ��� 
	)�  

 :-*�G#� �� HI*
 
	)� �
()$E Z�4�� #$: �� [��6� ��$T��� ��� '0���� \��� $� �����H]++X �++��E �� . �� '++6�;O �� A++��

1� ��$E #$% �$3^)X 
9& �����$E ��2� �6� ��63� H_ 1��$� ',D& (��� � ��: 1��$� #�$% � ��$T��� �� `$0^� ',D&.�$)O  
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:� �� %���.� ��� 
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�* 

:JK#�� �� HI %�)	
L��M 8
��) * +,��� A++�� .1++8<� ��.� � �8K �H]X ���E ��  �++� A)++̂ )X '++6�;O ��  � 1++B� '++6�;O

 $b���� 1% � ���� A)^)X �6� ',D& (��� ��63� $� ���& �� '6�;O �� � �� H_  � 13)�$.4 ��$++� � ��++: 1++��$� �++�$T��� �++� ',D&

1� W)X '<)0K c�*� �. d���. '� ��: C)56. ��� ',D& (��� \��� $� ?)8B..���  
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١٤PH 

:� �� %���.� ��� �$�
��*  ')9.  � e�� � C++<� ��++9K_ L++���� � �++��$BD8@ �1��UT H�� �� A))3. '��X ���82� ��� '^=K

 '++� f�++� C)��++P� '++� 
++�� 1++K�;)� '++� �� '^=K �� [��6� (�@]%� .
�� ���82� ����UT 1P)� � 18� ��� 1Og�� �H�80��� ��8K

�:�� hM^� #$% ��66� ���*. i&�$� � ��6�� S��P� ��$� #�4�K A�� .'++)9. $� 
�� �� '��=� �� '^=  1++��$&� ��++� '++^=K '++�

.��: 1� ')9. ��� 'D�$� ��  
:�:�� 1� $�  #$: '� '��X ���82� ��� '^=K  

 - 
)2E�� H]X  

 - ) ?E��� \�)=� �'=3% $� j)BP. '� (�=3% '^=K200/1(  
 - ��� '^=K) ?E��� \�)=� ���200/1(  
 - W��8K �� ��$8� H�)@ �K��& ')D� ��8K '^=K ) ?E��� \�)=� ����96^)X � ���8K R��*�200/1(  
 - ) ?E��� \�)=� �(�=3% ���8@ (�%�3.�� W��8K �� 14$@ � 1��% i%�=� '^=K200/1(  

 - &��� �)0Bm�$X1  

  

5%   
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٢١PH  
  

�&�' �
() *� + ��O� %���!� :  
-  ��++������ �(f�++*.� � �++� �$O��� �=� �H�)���K�T ��� H�0� ���$). (�)Q;& � '^=K 'D8&  � 
DB�� 
��� 1��$&� '^=K

��,K��_ '��o ��6���� � 1:$� 'DX �� �� � �� �  

-  � �� 1T$*� R��*� $���=�  

- � �� (�3���� ?��T  

  

15%   

٢٢PH  
  

�&�' �
() *:+6
'�6� -�9
�P) + ��O� %��  
 (2: ?��� +� � ! 
��	� ���� ���2��M ���	$ �  %����M �	' Q��� �� +6
'�6� -�9
��) %�� �&�' ���  

 - p]4�T iT� 1^� '��� '^=K  

 - �$O� �$� p_ 1^� '��� ��� '^=K  

 - 1�>� ��9�_ iT� � H���� p_ ���_ i8& '^=K  

 -  Z�3>� '��9. C0,)�  

 W���$� C0,)�  

 W���$O C0,)� 

 �& � ��$O���� (�;)9<. c��&'K����.�� �� 1��8K  

 - V�$� ��P%� C0,)� ��� '^=K  

 - i&$� �� ��$8� 1��$&� (���;D� � 1��$&� (�)Q;& 

 - $M0�� '� q��$� ��� '^=K 

 - ��;� (��� �� 1B)K�B� (�;)9<. 1��8K�& ��� '^=K  

�:�� $/�� H�80��� ��� '6�;� ')��� ���_$��� �K��. 1� �� C0�_ A�� W��� �� W��;T� 
�� R)4�. '� � f.  
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٢٣PH 
  

�&�' �
() *:+��� -�9
�P) + ��O� %��  

: ?��� +� � ! 
��	� ���� ���2��M ���	$ �  %����M �	' Q��� �� +��� -�9
��) %�� �&�' ���(2  

 - 1��6:�� '^=K  

 - X '^=K(�� ��o � ���D��. 1��8K�& � r$� ;�$ 

 - (�� ��o ?��.� � (�)Q;&  

 - H�P�_ � A0K_ � APD. ;�$X '^=K  

 -   �)K (��� �� V�$� �]@� ��� '^=K 

 -   �)K (��� �� $)O� � � A)���� ��� '^=K  

 -   �)K (��� �� � �� �68:�� ��� '^=K  

 -  'B3: '� q��$� ��� '^=Kو � (��UPS  در صورت نياز 

 -  �;��� '^=K � V�$� �]@��APD.�A� �� p����;�$� A0K_�A)�  C0,)� �(��E '�st. ����D��. '� q��$� ��$O����DT �� � ��$O���

( �)K �� ��&� (����� )1.�� C0,)�  

 -  �]@� C0,)� �A� ���� � APD.�r$� ��9D��� '� q��$� ���$),� � (���06� ����D��. ���.�$Ku c;�� � r$� 
,X) '�st. ?��

  � V�$�(1K�B,� ��� i80<� ��$�).... � 
��� 1��6:�� �1K�397K '� �9��D� 

.�:�� $/�� H�80��� ��� '6�;� ')��� ���_$��� �K��. 1� �� C0�_ A�� W��� �� W��;T� 
�� R)4�. '� � f  
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  ) Q�
�� �� ���� �� T
6G) �� -���� "��5�� "U�1:100:���� (  

- 10:��9� (�,)��. � (�;)9<. H���)o � H�8D3� ����UT 
��,� � �$���� 

  

 , Q�
�� �� �#&��$ * ���� �� T
6G) �� -���� %��XI �!�?'� "U� ) ���?1:100:���� (  

-  1@�P.�� � 1��%  � C@� 1��$&� ���sO � ��K�  

- i%�=� ��� 
9& ��6��8K q�>�  

-  � f (�@�&�� �� '^=K ��0�� �� ��$8� 1T$*� R��*� Z�K �,� $� 1&��� � 1D��� �������� ��6� v).  

- ��;� (��� �� �� �=� \�B2� H]X  

- 1@�P.��  �$. � ���2. �
9& ���2�� [�� �� 'DX ���$O�X  

-  � �� �$<6X � �� �� ��6� v).OKB �9K_  

- �� � �� ��� H�0� � �� �� ��� ����  

- 1.�,)��. ��� 
���  

- (�)�;& ��$� � f (�@�&�� 
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-  (��  ��K� 
�� 1@�P.��  �$. 'D8&  � )1@�P.�� � 1��%  � C@� 1��$&� ���sO � ��K�  

- & ��6��8K q�>�i%�=� ��� 
9  

-  ���$�_ ?�� � �): H�;)� � 
9& ���6� �): q�>�  

- �� W���� � �� 
��� �1.�,)��. $��6@  

- �� � �� �� �� ��� ����  

- (�)�;& ��$� � f (�@�&�� 

  

  ) ���?, Q�
�� �� +��E * +/	� Y����1:100:���� (  

- �� � �� ��� �=� � ��$). �1X ��� �� ��� ����  

- @� 1��$&� ���sO � ��K�1@�P.�� � 1��%  � C  

-  � f (�@�&�� �� '^=K ��0�� �� ��$8� 1T$*� R��*� Z�K �,� $� 1&��� � 1D��� �������� ��6� v).  

- ��;� (��� �� pw�� ��� �=�  

- ���$O�X 1@�P.��  �$. ����2. [�� �� 'DX  

- (�)�;& ��$� � f (�@�&�� 

  

  ) ���?, Q�
�� �� ����'1:100:���� (  

- ��� �=� � �� ���� �� � ��  

- 1@�P.�� � 1��%  � C@� 1��$&� ���sO � ��K�  

-  � �� �$<6X � �� �� ��6� v).OKB �9K_  

-  ?��� (�)�;& �� �8K R��*�  

-  ���sO �� V�$%  � $7��B� '� 
3,K �8K #�>� e]0�� H�;)�  

- ��;� (��� �� �8K ��� ��: �*K (�,)��. � (�;)9<.  

- �)�;& ��$� � f (�@�&��(  
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  ) ���?, Q�
�� �� ��	4� * ��Z, %�� �&�'1:100:���� (  

  ��	4� "U�  

- '� q��$� ')6�� � ��*� 1=T� S$�  ��$�  

- H_ R��*� � � �,P� �x����86�_ ��� �B� � ��6� 'yz�� ?��: '%��� $��6@  

-  ���$�_ ?�� � H�;)� � 
9& ���6� �): q�>�  

- 1.�,)��. (�;)9<. � $��6@ 

- 1@�P.�� � 1��%  � C@� 1��$&� ���sO � ��K�  

-  ���2. � 
9& ���2�� [�� �� '%��� ��� 'DX  

- i%�=� ��� 
9& ��6��8K q�>�  

- �@�&��(�)�;& ��$� � f ( 

 

 ��'- (��	4� �	0� !� \�� * �� ��Z, �
5M %��' ���� ) ��	4�  Y0��  

- 1@�P.�� � 1��%  � C@� 1��$&� ���sO � ��K�  

- ?��� (�)�;& �� �8K R��*�  

- $7��B� '� 
3,K #�>� e]0�� H�;)�  

- ��;� (��� �� �8K ��� ��: �*K (�,)��. � (�;)9<.  

- ?Q�� ��� ����� � 1�$� �1X  

- (�)�;& ��$� � f (�@�&�� 

  

  ) ���?, Q�
�� �� "U� � ��1:250:���� (  

- �� ��*� � �� '%��� 1D�� $��6@ � ���6� 1��8K�&  

-  '%��� 1D�� $��6@ � '%��� � H�80��� ?���T ���sO � ��K�  

-  ��3@ ��� $),��������� ��7PE�. ��� H���)� ��� H�80��� ��$=0�� 
)2E��  

  

 -�
 HO  

- � ` �K c���&���  ���� � ��� �� ��� �=� �������� '� q��$� (�@]%� ?��: )  �� $� � ��):�X$� ����UT ')D�

(;)K$E  

- �� �$<6X � ���� ��8K (�)�;& '^=K  

-  ��� '^=K�&��(�@ � f  \�)=� �� '%��� � ')6��  � C@� i%�=� � ���8K ��� H]X �� 1��$&� (�)�;& '� q��$�

 )?E���1:25  ( 

 

 

    * 6� �� #]� �w H���BK�8)X f�82� '� �D0M� ��� �u�$X �� ��K�: ��$B. (�)�;& �WM� $� �� � f (�@�&��  � ��5

 �$&� '� ���E H_ ��� '^=K A0:�� 
�� �� H��� ��BK�8)X � ���� �u�$X A�� |�� '� 
�� 1.�)�;& � 
,)K }�60,� �6:_ H_ ��$&�

.��� ����MK 
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 _5���$�
�� �	4' * ����4� \*� �
�
����:  

  
3 -1 ( ���:
��
��   (���� '8�;�� V� 1��$% H���69� A8<K� '��6��5K \��� $� ��� � c�� 'D�$�

1� '3���� $�  S�� V3% �;� H�0�� ��82���$O:  
(i�$�$0�) �6� $�     

(c���)�6�$�  i�$�$0� $� ��$&� '6�;�    

(c���) �6� ?� ��$&� '6�;�   

���(i�$�$0�)p�����9� � '%    

(c���)p�����9� � '%��� i�$�$0� $� ��$&� '6�;�    

(c���) p�����9� � '%��� ?� ��$&� '6�;�    

?� ��$&� '6�;�    

V� ���� c��& V3% '8�;��2 '��6��5K    

 c��& V3% c�� 'D�$� (���� #$: ���� ����1 '��6��5K  40%  

V3% ��� 'D�$� (���� #$: ���� ����  c��&1 '��6��5K  60%  

  

 V� ~D3� '3����:1��$% c�� 'D�$� '8�;�� 

V�= c�� 'D�$� '8�;��  ?� ��$&� '6�;� × V� ���� '8�;�� ×c�� 'D�$� (���� #$: ���� ���� 

 

   .......................... c���        =.........................   c��� ×     ............    ×      40%  

   V� ~D3� '3����:1��$% ��� 'D�$� '8�;�� 

V� ?� ��$&� '6�;� = ��� 'D�$� '8�;��  ×V� ���� '8�;�� ×��� 'D�$� (���� #$: ���� ����  
 

   .....................................c���      = ..........................  c��� ×     ...................  ×      60%  

 �V� ?� ~D3� '3���: '8�;�� 

      V�V� = ?� '8�;��V� + c�� 'D�$� '8�;����� 'D�$� '8�;��  
 

   ...............................  ����    =  .................... ����  +       ........................    ����  

3 -2 (:������� ����  

 �� �����$E ~D3� �).$. A���5K �� A0T$O $10٪ �28& �)PM.    .....................   c��� 1� $�  #$: '� �:�:��  

   V�c�� 'D�$� '8�;�� :       ...................      c���  

   V� 'D�$� '8�;����� :      ...................      c���  

3 -3 (
����� �� ������ � �!:  

50'� 'D�$� $� '8�;�� V�  � ���� �6@ H�W)X X 'D�$� H_ 
���$ �50  H�8� 1��9K ?���. ��76� H_ ����

 'D�$�1� 
���$X .��:  

  

. 
�� '=3% $� ��6� $�  '3���� `]� �=�u�$0�*  



  

 ����� ��	
�4  

  

 ���'��:+5M %?��'��!  

  

 /����  !�" #�$�%��& �'� �$  1  2  3  4  5  6  7  8  9  10  11  12  13  14  15  16  

١١PH 
                                

٢١PH                                  

١٣PH                                  

١٤PH                                 

٢١PH                                 

٢٢PH                                  

٢٣PH                                  

٢٤PH                                  

  

  

  

  

  

  

  

  

  

  

  

  


